

Confidentiality Requested:

Yes No

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1237751

Form ACO-1
August 2013
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🔲 East 🗌 West
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxxx) (e.gxxx.xxxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
☐ Oil ☐ WSW ☐ SHOW ☐ Gas ☐ D&A ☐ ENHR ☐ SIGW ☐ OG ☐ GSW ☐ Temp. Abd. ☐ CM (Coal Bed Methane) ☐ Cathodic ☐ Other (Core, Expl., etc.): If Workover/Re-entry: Old Well Info as follows: Operator:	Producing Formation: Elevation: Ground: Kelly Bushing: Feet Total Vertical Depth: Plug Back Total Depth: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt.
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SWD Plug Back Conv. to GSW Conv. to Producer	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Commingled Permit #:	Chloride content: ppm Fluid volume: bbls Dewatering method used: Location of fluid disposal if hauled offsite: Operator Name:
GSW Permit #:	Lease Name:
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY			
Confidentiality Requested			
Date:			
Confidential Release Date:			
Wireline Log Received			
Geologist Report Received			
UIC Distribution			
ALT I II Approved by: Date:			

Page Two



Operator Name:				_ Lease Na	ame: _			Well #:		
Sec Twp	S. R	East	West	County:						
INSTRUCTIONS: Shopen and closed, flow and flow rates if gas to Final Radioactivity Log	ing and shut-in pressu o surface test, along w	res, whet ith final cl	her shut-in pre hart(s). Attach	ssure reach extra sheet	ed stati	c level, hydros space is need	static pressures ded.	s, bottom hole temp	erature, f	fluid recovery,
files must be submitte	d in LAS version 2.0 o	r newer A	ND an image f	ile (TIFF or	PDF).					
Drill Stem Tests Taken (Attach Additional S		Ye	es No				ation (Top), Dep			Sample
Samples Sent to Geol	ogical Survey	Ye	es No		Nam	9		Тор	I	Datum
Cores Taken Electric Log Run		☐ Ye								
List All E. Logs Run:										
		Repo	CASING rt all strings set-c		Ne		uction, etc.			
Purpose of String	Size Hole Drilled	Size	e Casing (In O.D.)	Weigh Lbs. / F	nt	Setting Depth	Type of Cemen			and Percent Additives
			ADDITIONAL	CEMENTING	G / SOI	EEZE RECOF	20			
Purpose:	Depth	Tyne	of Cement	# Sacks U		EEZE NECOF		and Percent Additives		
Perforate	Top Bottom	1,700	01 001110111	" Guono C			Туро	and i ordent ridditived		
Protect Casing Plug Back TD										
Plug Off Zone										
Did you perform a hydrau Does the volume of the to Was the hydraulic fractur	otal base fluid of the hydra	aulic fractu	ring treatment ex		•	Yes Yes Yes	□ No (If N	lo, skip questions 2 ai lo, skip question 3) lo, fill out Page Three	,	O-1)
Shots Per Foot			D - Bridge Plugs Each Interval Perf			Acid, F	Fracture, Shot, Ce	ement Squeeze Recor	ď	Depth
	Срескут	orage or E	adri interval i em	oratou			(Amount and Kind	or material oscay		Берит
TUBING RECORD:	Size:	Set At:		Packer At:		Liner Run:	Yes	No		
Date of First, Resumed	Production, SWD or ENH	IR.	Producing Meth							
Estimated Production Per 24 Hours	Oil B	bls.	Flowing Gas	Pumping Mcf	Wate	Gas Lifter	Other (Explain)	Gas-Oil Ratio		Gravity
DISPOSITIO	ON OF GAS:			IETHOD OF C	_			PRODUCTION	ON INTER	VAL:
Vented Sold			Open Hole	Perf.	_ Dually (Submit A		Commingled Submit ACO-4)			
i i i i i i i i i i i i i i i i i i i	•	1 10	and (opedity)							



LEIS OIL SERVICES



1410 150th Rd. • Yates Center, Kansas 66783 • (620) 212-0752

Operator License #: 30345	API #: 15-207-28900-00-00
Operator: Piqua Petro, Inc.	Lease: Diebolt
Address: 1331 Xylan Rd Piqua, KS 66761	Well #: 7-14
Phone: (620) 433-0099	Spud Date: 06-03-14 Completed: 06-04-14
Contractor License: 34036	Location: NE-NW-SE-SE of 15-24-17E
T.D.: 1222 T.D. of Pipe: 1219 Size: 2.875"	1200 Feet From South
Surface Pipe Size: 7" Depth: 22'	4350 Feet From West
Kind of Well: Oil	County: Woodson

LOG

Thickness	Strata	From	To	Thickness	Strata	From	То
4	Soil/Clay	0	4	3	Black Shale	788	791
1	Shale	4	5	5	Shale	791	796
20	Lime	5	25	3	Lime	796	799
115	Shale	25	140	366	Shale	799	1165
15	Lime	140	155	1	Coal	1165	1166
9	Shale/Coal	155	164	4	Shale	1166	1170
81	Lime	164	245	8	Lime	1170	1178
69	Shale	245	314	4	Oil Break	1178	1182
70	Lime	314	384	40	Lime	1182	1222
9	Shale/Black Shale	384	393				
21	Lime	393	414				
4	Shale/Black Shale	414	418				
24	Lime	418	442				
166	Shale	442	608				,
8	Lime	608	616				
15	Shale	616	631				
10	Lime	631	641				
67	Shale	641	708				
3	Lime	708	711				
4	Shale	711	715				
12	Lime	715	727				
10	Shale	727	737				
4	Lime	737	741		T.D.		1222
2	Black Shale	741	743		T.D. of Pipe		1219
14	Shale	743	757				
15	Lime	757	772				
6	Shale	772	778				
7	Lime	778	785				
3	Shale	785	788				

Leis Oil Services, LLC

1410 150th Rd Yates Center, KS 66783

Invoice

Date	Invoice #
6/1/2014	1026

Bill To		
Piqua Petro, Inc. 1331 Xylan Rd Piqua, KS 66761		

P.O. No.	Terms	Project
	Due on receipt	

Quantity	Description	Rate	Amount
1	Drill Pit	100.00	100.0
	Cement for Surface	11.60	92.8
1,238	Drilling Diebolt 6-14	6.25	7,737.5
1	Mississippi Bit Charge	600.00	600.0
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
878	Drilling Shannon 13-14	6.25	5,487.5
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
874	Drilling Shannon 12-14	6.25	5,462.5
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
879	Drilling Shannon 14-14	6.25	5,493.7
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
865	Shannon 15-14	6.25	5,406.2
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
	Diebolt 7-14	6.25	7,637.5
1	Mississippi Bit Charge	600.00	600.0
* 1	Drill Pit	100.00	100.0
	Cement for Surface	11.60	92.8
3	Making crossing through stream on Diebolt (3hours)	45.00	135.0
		,	
			٠.
		Total	\$39,909.6



Kepley Well Service, LLC

19245 Ford Road Chanute, KS 66720 10/01/14 19685

Greg Lair Piqua Petro 1331 Xylan Road Piqua, KS 66761

Diebolt - North Well Woodson County

	11		
Description	Qty	Rate	.Amount
Pulling Unit 9/25/14 Run pipe in. Set up to wash	1	100.00	100.00T
Pulling Unit Pump cement, pull half of pipe. Fill to surface. Pull rest of pipe and wash clean.	2.5	100.00	250.00T
Pump Charge	1	500.00	500.00T
Vacuum Truck	2.5	85.00	212.50T
Cement Sales Tax	112	10.00 7.15%	1,120,00T 156.05
	Tanana and a same and		

Due Date

Terms

Total	\$2,338.55
Payments/Credits	\$0.00
Balance Due	\$2,338.55